This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 5 - Leaderdale & Melrose

4,555

3

1,139

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Kevin DRUM	Scottish National Party (SNP)	811
Diana FINDLAY	Scottish Conservative and Unionist	523
Rebecca FRASER	Independent	202
lain GILLESPIE	Independent	510
Tom MIERS	Scottish Conservative and Unionist	934
David PARKER	Independent	1,149
John PATON DAY	Scottish Liberal Democrats	426
	Total	4,555

Candidate David PARKER Elected with 1,149 votes, being in excess of the quota of 1,139

### Scottish Borders Council

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of David PARKER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin DRUM	166	0.00870	1.44420
Transfer to Diana FINDLAY	73	0.00870	0.63510
Transfer to Rebecca FRASER	86	0.00870	0.74820
Transfer to Iain GILLESPIE	385	0.00870	3.34950
Transfer to Tom MIERS	104	0.00870	0.90480
Transfer to David PARKER	0	0.00000	0.00000
Transfer to John PATON DAY	171	0.00870	1.48770
Value of non-transferable ballot papers			1.43050
	Total		10.00000

This report contains the transfers results.

Stage 3 - Exclusion of Rebecca FRASER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin DRUM	8	0.00870	0.06960
Transfer to Kevin DRUM	20	1.00000	20.00000
Transfer to Diana FINDLAY	20	1.00000	20.00000
Transfer to Diana FINDLAY	8	0.00870	0.06960
Transfer to lain GILLESPIE	39	0.00870	0.33930
Transfer to Iain GILLESPIE	72	1.00000	72.00000
Transfer to Tom MIERS	16	1.00000	16.00000
Transfer to Tom MIERS	5	0.00870	0.04350
Transfer to David PARKER	0	0.00000	0.00000
Transfer to John PATON DAY	17	0.00870	0.14790
Transfer to John PATON DAY	46	1.00000	46.00000
Value of non-transferable ballot papers			28.07830
	Total		202.74820

This report contains the transfers results.

Stage 4 - Exclusion of John PATON DAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin DRUM	18	0.00870	0.15660
Transfer to Kevin DRUM	71	1.00000	71.00000
Transfer to Diana FINDLAY	49	1.00000	49.00000
Transfer to Diana FINDLAY	12	0.00870	0.10440
Transfer to Rebecca FRASER	0	0.00000	0.00000
Transfer to lain GILLESPIE	62	0.00870	0.53940
Transfer to lain GILLESPIE	134	1.00000	134.00000
Transfer to Tom MIERS	63	1.00000	63.00000
Transfer to Tom MIERS	22	0.00870	0.19140
Transfer to David PARKER	0	0.00000	0.00000
Value of non-transferable ballot papers			155.64380
	Total		473.63560

This report contains the transfers results.

Stage 5 - Exclusion of Diana FINDLAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin DRUM	4	0.00870	0.03480
Transfer to Kevin DRUM	7	1.00000	7.00000
Transfer to Rebecca FRASER	0	0.00000	0.00000
Transfer to Iain GILLESPIE	54	1.00000	54.00000
Transfer to lain GILLESPIE	16	0.00870	0.13920
Transfer to Tom MIERS	45	0.00870	0.39150
Transfer to Tom MIERS	462	1.00000	462.00000
Transfer to David PARKER	0	0.00000	0.00000
Transfer to John PATON DAY	0	0.00000	0.00000
Value of non-transferable ballot papers			69.24360
	Total		592.80910

This report contains the transfers results.

Stage 6 - Surplus of Tom MIERS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin DRUM	2	0.00198	0.00396
Transfer to Kevin DRUM	21	0.22859	4.80039
Transfer to Diana FINDLAY	0	0.00000	0.00000
Transfer to Rebecca FRASER	0	0.00000	0.00000
Transfer to Iain GILLESPIE	423	0.22859	96.69357
Transfer to lain GILLESPIE	43	0.00198	0.08514
Transfer to Tom MIERS	0	0.00000	0.00000
Transfer to David PARKER	0	0.00000	0.00000
Transfer to John PATON DAY	0	0.00000	0.00000
Value of non-transferable ballot papers			235.94814
	Total		337.53120

This report contains the transfers results.

Stage 7 - Exclusion of Iain GILLESPIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin DRUM	17	0.00198	0.03366
Transfer to Kevin DRUM	123	0.00870	1.07010
Transfer to Kevin DRUM	108	0.22859	24.68772
Transfer to Kevin DRUM	164	1.00000	164.00000
Transfer to Diana FINDLAY	0	0.00000	0.00000
Transfer to Rebecca FRASER	0	0.00000	0.00000
Transfer to Tom MIERS	0	0.00000	0.00000
Transfer to David PARKER	0	0.00000	0.00000
Transfer to John PATON DAY	0	0.00000	0.00000
Value of non-transferable ballot papers			681.35463
	Total		871.14611